Best model for HELP J160913.284+542833.616 at z = 1.018 x2=1.96
OPTx2=2.17 IRx?=1.97 threshold (OPT IR)=16.15 [um]

2 : Stellar attenuated
10 e Stellar unattenuated
m —— Dust emission
. m —— AGN emission
101 = Model spectrum
- ® Model fluxes
M oObserved fluxes
_10°
>
£
— 10—1
X
=
e S
10—2 '"H’?‘"M"“‘ Ry
10°3 s
1

307

= 1 e

= ] ==f=(Obs-Mod)/Obs

S ]

S

n L

] 0 e - - [ § AS—— — e —————————————————— -

o ]

) ]

2 ]

5 ]

o - 1 T T T

()

(o'

10° 10! 107 103 10 10
Observed wavelength [um]



